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1. Please derive the transformation matrices for the reflection about the

line y = x. (10%)

2.
A triangle DEFis defined by its vertices as follows: D(1, 2, 2), E(2, 4, 3), and
F(4, 3, 2)—right-handed system. Use the orthogonality property of the ro-
tation matrix to make

(2) Line DF coincide with the positive y axis.

(b) The triangle coincide with the yz plane.

(15%)

3. What is the advantage of using the Z buffer algorithm in CAD?
(10%)

4. The degree of the blending function of a Bezier curve is 3. Please
derive the blending functions B, ;~B;; . (15%)

Q) = WpBys + ViBis + VaBas + VB35

where

(B&EIBAEB FBREL)
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